ojd 4o 2 vje] 7 & ¢

O o
=i

ot

L.

1

&l

S}

off 48 7

ZF O

?

AN

Q

FE2X AT

® © ® © @ @ B @

ONS)



O x+(x+1)+ (x+2) =57
@ (x=1)+x+ (x+1) =57
® (x-2)+x+(x-1)=57
@ x+2x+4x =57

® x4+ (x+2)+ (x+4) =57
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@ 10km @ 15km ® 20km
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@D 10% @ 15% 3 20% @ 25% 3 30%
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D 6+x=x+6-18 @ 6x+ 18 = 6x

® 6+x+18=6x @ 60+x-18=10x+6
® 60+x+18=10x—+6
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@ 45 +x=39+x @ 45+ x =13+ 3x
® 45 =3(13 + x) @ 45+ x=2(13+x)

® 45+ x=3(13+x)



-l
2
ofl
i
offl
o
1o
OHU
o

=] 7ol Z¥z¥ 7300 Yt 3400 Qo] 2=t
2o & 1209, SA2 o Zof 250 94 A&t a7 T F
SR O] o FHo] Zoprtial T uf, xof T3t A o7 2o 7129

_k;_ll

@ (7300 + 120)x = (3400 + 250)x
@ 7300 + 3400 = 2x

® 7300 + 120x = 3400 + 250x

@ 7300 4 120 = 3400 + 250x

3 7300 x 120x = 3400 % 250x
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@ 0.05x-0.03(800-x) =8 @ 0.95x+0.97(800 — x) = 8
@ 1.05x+0.97(800-x) =8 @ 0.05(800 — x) — 0.03x = 8

® 0.05x + 0.03(800 — x) = 8
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©35-3 @3-5=3 ®35-3=3
@ 2x-3x =230 @%—%:230
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@D 100m @ 300m ® 500m @ 700m ® 900m
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@ 0.08x + 0.03(480 — x) = 0.07 x 480

@ 0.08x + 0.03(465 — x) = 7

® 0.08x + 0.03(465 — x) + 15 = 0.07 x 480
@ 0.08(465 — x) + 0.03x = 0.07 x 480

B 008 +x+003+465-x=7
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@ 12cm, 7cm @ Tem, 12cm ® 15cm, 10cm

@ 15cm, 20cm ® 16cm, 21 cm
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® 20g @ 30g ® 40 g @ 50 g ® 60 g
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